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SECTION-I

Directions: In each of the following questions, four
sentences are given between the sentences numbered 1
and 6. You are required to arrange the four sentences
so that all siz together make a logical patagraph.

L.

1.
A,

e

Why are horses the same?

It may be old and lare, and in time it wall
die.

A patticular horse * flowes’, naturally.

C. Bt there is something all horses have in
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COTAETI0L.
Y ou probably don't thinl: they ate at all.
But the “form” of the horse iz etermal and
imtnutatle.

DCAR

CaRD

CBDA

DCRA

Buddhism is a way to smlvation. A But
Buddhism is more sewerely analytical,

. In the Christian tradition there is also a

concern for the fate of human society
conceived as a whole, rather than merely
as a sum or network of indisi dual s,
salwationis a property, or achievernent, of
individualz.

Mot only does it dissolve society into
individuals; the indiwidual in tun is
dissolved into component parts and
instatits, a streatn of events,

In modern termminology, Buddhist doctrine
is reduct ondst.

BCAD

ADRBC

CRaD

CDAR

Matnlineal systerns of land inhentance
advantaged women in many respects,
especially in granting thern econotnic and
social security.

Women, in particular, were profoundly
affected by these changes.

. The large joint farnily estates came to be

pattitioned;, there was an  increasing
petetration  of  market  forces  and
patriarctal ideologies spread in influence.
These systems, however, dd not rerrain
fizzed ovwer time.

Intervertions by the colonial and post-
colordal states, and the processes of social
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change which these zet in motion, emoded
customary practices,

at the same time, ther customary
exclusion from major authority in public
bodies meant that they were unlilzely to be
the ones directing the changes.

BDCA

CDB A

CDABR

CADB

Liz Taylor ism't just unlucksy inlove.

She, and hushand Larty Fortensloy, will
hawe to pay the tab - 3432, 600 in court
costs.

. The duo daimed that a 1993 stary about a

property
reputations.
Taylor has lost a defarnation suit against
the Mational Encuirer.

sheis unlucky in law too,

Alaz, all lewels of the Califormia coutt
system dizsagreed.

CDAR

DCABR

DABRC

CDB &

dizpute darraged  their

since its birth, rock has produced a long
stting of guitar heroes.

It iz a ligt that would begin with Chuck
Betry, continue on thtough Hendrizz, Fage
and Clapton.

. These are mmusicians celebrated for their

sheer insthurnental talent, and their flair for
expansive, showy and sometimes self-
indulgent salos.

It would also include players of tmore
recent wintage, like Van Halen and Living
Colowr’ s Vernon Reid.

But wath the advent of alternative roclzand
grunge, guitar heroism becarme uncool.

Guitaristslikce Peter Buck and Kt Cobain
shy away from exhibitionism.

ACBD

ABCD

BCAD

BADC

Hizz wms szerving as head of the
Endowment on Aug 3, 1945, when

Whittalcer Chambers reluctantly appeared
before the House Un-American A ctivities
Corranittes.
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. Charrhers, a pottly nunpled man with a
melodramatic style, had  bheen a
Comrunist couer buat had broken with
the patty i 1935

. When Mxon arranged a meeting of the
two men in Mew York, Chambers repeated
hiz chatrgesand Hiss his detdals

. Summoned az a witness, Hiss denied he
had ever heetr a Comtnunist or had known
Chatrbers.

. He told the Comnittee that ameng the
tnembers of a secret Cottmunist cell in
Washington during the *30s was Hiss.
Then, bizarrely, Hiss asked Clambers to
open ks mouth

CBAD

ADBC

ADCH

ACDB

For many scientists, oceans are the cade
oflife.

. But all owver the world, chemical products
and nuclear waste continue to be dunmped
into them.

. Coral reefz, which are known as the most
beawtiful places of the submanne world,
are fast disappearing

. The result is that many species of fish die
because of this pollution.

. Of course man i3 the main cause of thege
problems.

Ilan bas long since nined the places he
goes to — continents and oceans alilee,
ACBD

BACD

ABDC

BCaAD

Am 1 one of the people who are wortied
that Bill Clititon’s second term might be
destroyed by a constitutioral crisis?

. Dn the other hand, ordinary citizens have
put the catnpaign behind them

. In other words, what worties me i3 that
Bill Clinton could estibit a wersion of
what George Bush used to refer to as Big
Lo,

. That is, he might have so much carmnpaign
momentum that he may not be able to stop
carrpa gring.

- Well, it's true that T'se been wondering
whether a President could be irrpeached or
refasing to stop talling about the bridge
we need to build to the 21 century.

They prefer now to watch their fvourite
soapsand acts on TV mather than senators.
DBCA

ABDC

c. BACD
d. CBDA
a

1. Historically, stained glass was albmost
entirely reserved for ecclesiastical spaces.

&, By all courts, he has accomplished that
trd ssion with wrd staleable style.

B. "It is my tission to bring it lcking and
screarning out of that rrilien,” says Clarke.

C. The first was the jewel-lilke windows he
designed for a Cisterclan Church in
Switzetland.

D Tswo recent projects showhis genius in the
separate worlds of the sacred and the
tmundane,

. The other was a spectacular, huge skeylight
ina shopping complex in Brazil.

a. CBaAD

h. BADC

c. ABDC

d. DBAC

10.

1. Bohow hig is the potential marlket?

& But they end up spending thousands more
gach wear on lardware upgrades and
software overhauls.

B. Analysts say the new rmachines will appeal
primarily to corporate users.

C. Anindiwidual oyer can pick up a desldop
cotrpater for less than $2000 in America

L. Forthem, the MNC™s best drawing card iz its
promise of much lower maintenance costs,

6. HNC's, which automatically load the latest

version of whatever software they need,

could put an end to all that.

BCAD

DABC

BDCA

DCAR

o oo

Direc tions for (). 11 to 15: Find the odd word ot
from each of the following sets of four words.

11. Find the odd word out from each of the
followang sets of four words.

a. Break

k. Hiatus
c. Pause

d. End

12. Find the odd word out fromm each of the
followang sets of four words.

a. Stigmatise
b Wilify

c. Cohsectate
d. Hcandalize

13. Find the odd word out fromn each of the
following setz of four words,
a.  Hatire
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b, Wag
c. Jester
d. Wit

14. Find the odd word ot from each of the
following sets of four words.
a.  Impetuosity
b, Egquanirty
c.  Lealonsness
i. Efferwvescence

15. Find the odd word ot from each of the
following sets of four words.

a. Tam
b, Crise
c. Amble
d. Cah

Directions Q. 16 to 23: Ivarl as the answer the pair of
wirds which have a relationship between them most
sirmilar to the relationship between the capitalized pair,

16. VOICE: VENTRILOQUIST
a. movement : dancer
b, eyesght : student
c. sldlls : surgeon
d. hair: beautician
17. UNITY : DIVERSITY
a. aingle : Whdtiple
b, Cne: Many
c. Homogenous | Heterogeneous
d. Singular : Flural
18. DOUBT : FAITH
a. Atheist Eeligious
b, Sceptic: Fious
c. Cerebral : Dnl
d. Impdite: Couteous
19. DEMAND : SUPFLY
a. Labour: Capital
b, Fegqure: Offer
c. Give: Take
d. Accept: Bgect
a0. BIGOT . FREIUDICE
a. racist ;apartheid
b anarchist s disorder
c. tmoh: fry
d. fundarnentalist : wiolence
21 LIALAPROPIZN : WORDS
a. anachtonism: time
b ellipsis: sentence
c. jinjanthropism : apes
d. catechismm : religion
i AMNTERIOR. : FOSTERIOR.

a. it out
b, top: bottom
c. head: tail

d. front : rear

i EXAGGERATION: HYFERBOLE
a. falsehood : mendacity
b, comparison ; amalogy

C.  perspiouity ; synonyimous

d. syta | grrrnar

Directions . 24 to 29: In each of the following
questions, a part ofa sentence is left Hanl Youare to
thosze fom atnong the four options given below sach
question, the one which would best 11 the hlanlzs.

oy the mote they retnain the satme.
a. Themotre the mertier
b, Theless the dynatrism
c.  The mote things change
d.  Themore pronounced the trans formati on

25 The stock-rrarket iz probably - And
the way the marlet has been plunging says a
lot abot inwestor confidence.

a. the best barometer to assess the sentiment
of the public

b, an ideal indication of the health of public
sentiment

c. theleast imperfect mechaniam for judging
the quantity of the sentimert of the public

d. the best indicator of public sentiment

2h. I atn an ertertainer , I hawe to
keep smiling because in oy heart laughter and
sorrow has an affinity.

a. Eweniflhave tears inme

b, Ewenthough I am depressed inside
c. While ertertaining people

d. Inthe entertainment business

7. Political poweris just as penmanent as today’s
newspaper. Ten years down the line,
who the most powerfil man in any state was
today.

a. who cares

b, nobody will remember what was written in
today’ s newspaper of

c.  fewwill know, o careahout

d. when alot of water will have passed under
the bridge, who will care

28, When we call others dogmatic, wiat we really
objecttois .

a. their giving the doga bad name

b, their holding dogmas that are different
from our owr

c. the estrermism that goes along with it

d. the subversion of whatever they actually
believe it concorrtantly.

29 Although it has been tnore than 50 years since
catyajit Ray made Pather Panchali, refiize to
go away fom the mind
a. thelaurtingimages
b, its haunting images
c. itshaurtedimages
d.  the haurt ofits itnages.

Directions (). 30 to 36 : In each of the following
questions a part of a garagraph or sentence has heen
underlined From the choices given, you are required
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to choose the one which would best replace the
underlined part.

0.

3l

3

i3

3.

Dieters who regain weight usually think

fattening their turrries means giving ap all

theit fawounte fttening foods in fact tmost

diet wintiers still eat doughtts and pizea —

bt they do so with equanitrity.

a. hutthey do so with equatitnity.

b hutthey do so sohedy.

c. butin moderation

d but they do so with a sense of
judiciousness.

Whatewer be the expetience of the other funds,

the Unit Trust of India’s decision will

pressure on them to conwert their closed

schemes into open ones  Jovestor mwst

evaluate fiuture offerings from the other fiunds

on that basis.

a. ought to carefully scan potential offerings
on that logic,

b, must evaluate fobure offenngs from the
other funds on that basiz.

c. should hereafier gauge such offerings
keeping such a mtionalein mind.

d. reckon with such offerings upon such
expectations,

How many times have [ asked myeelf when 15

the world going to start to male sense? There

1z a monster out there, and it iz rushing

towards me over the uneven ground of

COMLSC OUANESS.

a. Thereizamonster out there

b, Itizasifthe wordd iz on oo shoulders

t. Theanswer is out there somewhere

d. Thereiza sea of sensibility in e,

Conterrplating  whether to  emist with an

insatiable romantic ternperarnent, he was the

author and largely the subject of a number of

memorable novel s,

a. Conternplating whether to exist

b, Comhining realistic detail

c. Miscegenating a brilliant rrind

d. Aware that he had been hom

In a penetrating study, CBS-TV focuses on

those people withowt hope, whose bodies are

cared for by welfare aid, but whose spint is

often negected by a disirterested society.

a. whose hodies are cared for by welfare aid

b who do not have enough to eat

c.  whose hopelessness may be allesiated

d. who may be physically satiated

The Rurranians ray be testive under Soviet

ditection — hut they are tied to Moscow by

idedlogical and rlitary links

a. they are tied to Moscow by ideological
and trolitary linlks.

b, they are preparing for a great revolution.

& oad T
c. sectefly they rather enjoy the prestige of
being protected by the mighty Sowets.
d. thereis nothing they can do about it

Direc tions () 36 to 42: Given below are stz staternents
followed by sets of three. You are to mark that option
ity which the statetnents are tnost logically related.

36. Given below are six staternents followed by
setz of three. You are to mark that option in
which the staterents are most logically
related.

An ostrich lays eggs.

All birdslay eggs.

momme birds can fiy

An ostrich cannot Ay

An ostrich iga bird.

An ostrich cannot swim.

251

135

453

. 532

ETR Grven below are six statements followed by
gets of three. You are to mark that option in
which the statements are most logically
related.

1. All prime miri sters were politicians.
2. All  members of parliament were
politicians.
3. All prime ministers were members of
parliamert.

Pandit Mehn was a politician

Pandit Mehn was the prime nonister.

Pandit Mehn was a member of patdiament.

145

23a

532

. 635

38 Given below are six staternents followed by
setz of three. You are to mark that option in
which the statements are most logically
related.

sotne pins are made of tin,

Alltinis made of coppet.

All copper 15 used for pins.

Dot tin is copper.

sotne pins are used for tin.

sotne coppet 18 used for tin

123

356

345

. 135

39, Given below are six staternents followed by
setz of three. You are to mark that option in
which the staterents are most logcally
related.

1. Al bricksare tricks.
2. Sometricks are shriels.
3. Somethat are shrieks are bricks,

e
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40.

41.

42,

43,

somme tricks are not bricks,

Al tricks are shrieks,

Mo tricks are shrieks,

513

234

123

d. 543

Given below are six statements followed by
setz of three. You are to martls that oplion in
which the statetnents ate tnost logically
related.

sotne satid 15 band

All zandal 15 sand.

All band 15 sandal

Mo sand iz sandal.

Ma band is sand.

Somme band is sandal

231

165

453

d 354

Given below are 4x statements followed by
setz of three. You are to marlk that oplion in
which the statements are most logically
related.

1. Mowwifeizalife

All ifeis strife

some wifeis strife

All that is wifeis life

All wife iz strife

Mo wife is strife

254

A3l

124

d 245

Given below are six statements followed by
setz of three. You are to mark that option in
which the staternents are tost logically
related.

Foor gifl s want to matty fich boys,

Fich gifls want to matty rich boys,

Foor gitls want to marry fich gitls.

Eich boyswant to marry rich gitls.

Foor gifl s want to marry fich gitls.

E.ich boys warnt to many poor gitds.

145

123

234

d. 458

Given below are six statements followed by
setz of three. You are to martls that oplion in
which the statetnents ate tnost logically
related.

1. Bixzis five

Fiveiz not four.

sotne fiveis ten.

Dotne s 13 twelve.

Somme twelveis five.

some tenis foxr

e e
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145
123
156
. 543
Given below are six staternents followed by
setz of three. You are to mark that option in
which the staterents are most logically
telated.
somme crows are flies,
ootne flies are mosgquitoes.
All mmosgquitoes are flies.
somme owls are flies.
All owds are mosquitoes.
motne mosguitoes ate not owls.
123
356
145
542
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Directions (. 45 to 50: Arrange the four sentences in
order so that they male a logically coherent parmgraph.

45,

44.

47,

Amange the four sertences in order so that

they malke a logically coherent paragraph.

A Widely publicizsed tables of income levels
ofall countries indicate that when incomes
are higher, the greater is the contribution
made by the manufcturing industry,

B. Countnies which have litfle or no industry
are almost in inwariably poor,

. Thelesson is clear: to overcome poverty
and baclowardness, a coudry  rmust
industrialise.

[, Industnalisation is 2een as the lkey to
growth and a prerequisite for devel oprment

a. CBAD
h, DCBA
c. DABC
d. CABD

Arrange the four sertences in order so that

they rralke a logically coherent paragraph,

A A wife may not be sure that what her
hushand is saying teans “the end”

B. She has found that people’s voices often
get higher or shalder when they lie, and
they are tnore likely to shunble over
words.

C. According to DePaulo, changes in woice
catt be sigrificant.

D, She should listen clossly, not only to what
he says, tut also to how he saysit.

a. ADCH
h. ACDH
c. ADBC
d ABCD

Atrange the four sertences in order so that

they tralee a logically coherent paragraph.

&. He pulled popcorn dipped in ketchup out
of her mouth wath a pair of pliers,
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B. Soon Steven was making horror pictures,
using his sisters at wctimns.

C. A few wyears later Stewen borrowed his
dad’s eight- millimetre movie camera to
filtn The Last Train Wrecks using his own
electric train set.

D In one he played a dentist, with his sister

Ann asthe patient

CBAD

DACE

DARC

d CBDA
45. Afrange the four sertences in order so that

they makea logically coherent paragraph.

A In bk processing, a set of standard prices

typically emerges.

B. Competing therefore means keeping
products  flowing, tying to improve
quality, getting costs dowr

C. Let us look at the two culbwes of
cornpetition.

[, Production tends to be repetitive — nach
the same from day to day or even from
WEAL 10 year.

CDBA

ABDC

CADBE

DCBA

49, Hrranga the four sertences in order so that

they makea logcally coherent pammgraph.

A A moment later my prospective flances
reappeared and shoved a ticket to Jiuguan
through the hatch.

B. The queue gazed at me dumrbstiuck, then
brolze into a little ripple of applauze,

. The station master and clerd retreated into

the back rootn,

. [iftedit likea trophy,

CARD
ACLB
ACBD
CADE

=0. f—‘-.rrange the four sertences in order so that

they makea logically coherent paragraph.
sotnetting magical is happening to our
platiet.

sotne are calling it a paradigm shift,

It's getting amaller.

COthers call t business transformration.

ABDC

ACDB

ABCD

ACBD

SECTION-II
Directions: Read the passages and answer the
guestions based on them.
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PASSAGE -1

Etnile Dutkheirn, the first person to be formally
recogrised as a sociologist and the most scentific of
the poneers, conducted a sudy that stands as a
resgarch  rmodel  for  sociologists today.  His
iwestigation of suicide was, in fct, the first
sociological study to use statistics In Suicide (1964,
origitally published in 1897 Durltheim docutnented
tiz contention that some aspects of human behaviour
— evenl sormnething as allegedy indiwidualistic as
suicide — can be explained wathout reference to
ndividuals.

Like all of Durkheim’s worle suicide rmst he
wiewed within the cortest of his concern for social
integration. Durkheitn wanted to see if suicide rates
within a socal entity © (for example, a group,
orgatisation, o society) are related to the degree to
which individuals are socally itwolved (integrated and
regulated). Durktheim described three types of suicide
egoistic, anomic, and altnistic. Egostic suidde is
promoted when indiwiduoals do not have sufficent
social ties Bince single (newver martied) adults, for
extarmple, are no.r heawvily involved with family life,
they are more likely to comumit suicide. Cn the other
hand, altmstic suicide is more likkely to ocour when
social integration is too strong. The rtual suicide of
Hindu widows on their hushands” fimeral pyres is one
ecstarmple. Whlitary personnel, trained to lay dowm their
liwes for their country, provide another illustration,

Durkheirn’s third type of suicide — anomnic
suicide — increases when the socal regulation of
indiwiduals 1z disrupted. For example, suldde rates
increase during economic depression. People who
suddenly find thermselwes without a job or withoat
hope of finding one are more prone to kall themseelves.
suicide mey also increase dunng periods of prosperity.
People may loosen their social ties by faldng new jobs,
tnoving to new corrnities, or inding new mates.

Uaing data from the goverrmment population
reports of several countdes (rouch of it from the
French Govemnent Statistical Officet), Durkheim
found strong support for his line of reasoning, Suwcde
rates were higher among single than martied people,
arnong  military  perscnnel  than  civilians, among
divorced than tmartded people, and among people
rwolved in nati on-wide econotic criges.

It is important to realise that Durkheim’s
pritary interest was not in the empincal (observable)
indicators he used such as suicide mates among military
personnel, mamried people, and so forth. Rather,
Dnrlheim used the follewing indicators to support
several ofhis contentions: (1) Social belaviour can be
exzplained by social rather than psychological factors,
{2y Buicide iz affected by the degree of integration and
regulation within social entities, and (3) Since society
cati be studied scientifically, socidlogy is worthy of
tecognition in the academic wotld Dutkheim was
successfil onall three counts.
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51

53

55

56

58

In hiz study of swcide Dukheirn’s main

purpose was
a. to document that suicide can be explained
without reference to the individual.

b, to provide an explanation of the watiation
i1 the rate of suicide actoss societies.

c. to categorise warious types of suicide

d. to docurnent that socdal behawiour can be
explained by socdal  rather than
peychological factors.

According to Durkheim, suicide rates within a

social entity can be esplained in tenms of

a. absence of social ties

b, distuption of social regulation

c. nature of socal integration

d. all of the above

dince single adults are not heavily inwalved

with farmily life they are more likely to comrmit

suicide which Drltheimn categorised as

3. anomic suicide

b, altruistic suicide

C. egoistic suicide

d. Zand3

Higher suicide rate during rapid progress in a

society is & manifestation of

a. altruistic suicide

b, anomic suicide

C. egoistic suicide

d. none of'the above

Fitual suicide of Hindu widows on their

hushand’s funerml pyres was

a. amanifestation of strong social integmtion

b, an example of bratality against women

c. an egample of anomic suicide

d. an example of egoigtic suicide

Increase in the sucide mte during econoric

depressionis an example of

a. altnustic smcide

b, anomie suicide

c. egoistic suicide

d. bothland3

According to Dultheim altnistic swicide is

tnore lkely armong

trilitary personnel than among civilians

single people than among matried people

divorcees than among marrtied people

people imwvolved in nation-wide econotric

crisis

To support his contentions, Durldheim relied

ot the following indicators

a. Social behaviour ig explicatle
predominantly through social factors

b, Suicide iz contingert upon the degree of
social regilation and interaction

c. Recognising sociology is to acknowledge
that society iz susceptible to scientific
investigation.

d. All ofthe abaowe

a0 oW

s

Ped T
59, Basing himself on ks own indicators,
Dnrlsheirmn was
a. PRight on some counts not others
b, Vindicated on all counts
c. Wrong but did not realise that he was right
d.  Substantially cotrect but forrrally wrong

PASSAGE -2

Arnong the considerable nutnber of men dedicated to
the task of keeping Lows XIV entertained, sesreral met
tizatrre ends. [n 1671 at Chattilly, the great chef Vatel,
after providing the ling and sorme 2,000 courtiers with
thtee superb tneals on the first day of their wisit, lalled
hmself on the nestt, whena consignment of fsh he had
ordered fhiled to appear (it turned up  shorly
thereafter) Jean-Bapriste Ladly, in charge of rmsic for
all the roval festivities, managed to stab himeelfin the
foot with his conductor’s baton while directing a
perfonmance of one of his own works in 1687, he died
soon afterwards when gangrene setin

Maothing, howewer, quite equals the death of
Jean-Baptiste Foquelin, the selfstyled sewe de
Iloliere, a man established by 1672 az acton‘manager
and chief play-wright of la troupe du ropi, performing
at the Palaiz Roval in Pans and much in demand at
cort. “Bag might it not be a hit dangerous to
counterfeit  death™  Mioliere, asz Argan, the
typochondnac profagonist of his last comedy, “Le
Ialade imaginaire™, engquired, when about to do just
that, during the play’ = fourth performance on Febrary
17"1", 1673, “Mo, no,” the maid Toinette reassired himm,
“what danger could there be?™ But Iloliere did, in fact,
die: not actually on stage though he finshed Argan’s
part with consdermble diffculty — but an hour or twa
later at home Predictably, a stictly Catholic France
where actors were excorrrrunicated and refused burial
in consecrated ground (though churchmen patrond sed
the theatre and wrote plays thernselves) the usual dour
tnoral lezsons were drawi,

The stage chair in which Moliere as Argan
was stricken in earnest, not in jest, can still be seen on
petrnanent display in the upper Lobby of the Comedie
Francaise —the theatre which, in effect, he founded. It
15, apatt from the plays thetnselves and their prefaces,
almost the only tangible relic of a man much written
about by friends and enemies duting and iromediately
after his Lfetime, who nevertheless remains in many
ways tysterious,  despite  endlessly  proliferating
scholady and critical research. Wirginia Scott, author
of the latest attempt at a biogmaphy, is well aware of
the dfficulties. Mo one can disentangle legend from
fact, fiction from ttath — not even in the beief life
attached to the collected edition of WMaliere’s works
produced by his associate La Grange in 1682, or in the
1705 hiogrmaphy by Gimgrarest Wloliere himnself left
fn letters, o diaries, o tetnoirs. MNone of the watious
houses in which he is said to hawve lived rerraing, nor
do any of his personal possessions. Mot only do his
cortenporatnes provide ambiguous and conflicting
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reports,  but  the  basic facts  are  wanting
shakespeareans may cotnplain about a certain pavcity
of information, ot at least they lnow where their man
was hiried and whom he married. Molieristes do not.

Ifls Scott iz engagingly candid about her
bingraphical method. “Iy agenda is to express those
ittersections hetween mmyself and the past that [
expetience irvagnatively. . [ order what 1 lnow or
beliese [ lehow 20 as to create clatacters — whotmn [
choose to call Moliere and Madeleine — who could
tave made with some degree of probability the choices
[ believe the real Moliere and MMadeleine to have
trade.” 5o she iz fee to decide that Armande Bejart,
the teenager Moliere married in 1662, was indeed the
daughter of his former tmistress MMadeleine Beart by
the Comte de Wodene, rather than her youngest sister.
(But not, as some of his enemies suggested, also
Ifloliere’ s owm daughter) As to where and when the
respectable Jean-Baptiste Poquelin first met the
distinctly bohemian Madeleine, and how he was dawn
away from the solid family upholstery business into
the theatre, she does not pretend to offer more than
speculation Like everyone who writes about Maliere,
Iz Scott combs the plays themeelves for clues abost
hiz private life and comes up with suggestions that
may or may not be nght. Most innowative of all,
perhaps, iz her hypothesiz that Mloliere’s relationship
with hiz young protégé Baron was homoerotic —
though even that was hinted at by the more malicious
of his contermporaries,

The lazt biogmphy of Wicliere published in
English, John Palmer s “Ioliere™ (1930, reprirted in
19707, 15 still worth reading. To compare it, howewer,
with Ivls Scott’s iz to realise how enormously attitudes
tave changed during the intervening vears. MNervous
evert about DMoliere’s  illicit  relationship with
IMadeleine, Palmer could not bring himselfto say tore
than that “probably™ they had an affair, Owver Baron’s
posably sexual appeal to MWoliere he maintained total
slence. Also wery much of its petiod was his sight
regard for tlat improvised Italian theatre which
provided Moliere with many deamnatic types, and his
conterrpt for lavish barogue spectacle of the land that
Louiz IV loved and on which Woliere "wasted” his
talents. The hallet de cour and comedies-ballets are
now regarded with far more interest and respect than
was the case in 1930 (as indeed are the court tasques
ttat Ben Jonson and Inigo Jones created for Jatnes 1)
Both the delicious “Le Bourgeois Gentithormme™ and
“Le WMalade Irraginaire®” are, after all, comedies-hallets
—a category that a more flexible 21 . century idea of
theatre can once again accormodate.

Ils Scoft provides waluable correctives here
The strength of her book (as might be expected from
the author of “The Comtnedia dell” Atte in Paris”™,
19907 lies 1ess in its portrait of Moliere hitnsel fthan in
the densely researched and persuasive background
against which che is able to situate him. This is nmade
up of families and places (she iz partticulady good on

FIRE
el £

the 13 wears during which Mdiere and his troupe
watdered the French provinces before returning to
Pariz), while also including portraits ofhis enermies, as
well as erninent friends such az Boileau, La Fontaine
and Racine She does not offer rouch in the way of
cotrtnentary on the plays thetnselves. What she does
do iz amrestingly illurinate the complex world of
theatre and cowurt, hoth in Patiz and elsewhere, that
finally constitutes altnost all that can really he known
of WMoliere s life

al. I can be inferred from the passage that
Lioliere was:
a play wright
an actor
anowelist
a poet
1,2and 3
2, 53and 4
landl
. dand3
fl. What is the main difficulty in knowing about
the life of Moliere according to the author?
a. thereiznotangible relic of the man
booit iz difficult to dizentande legend from
fact in what 15 lmown about hloliere’ s life
c. there are conflicting reports by lis
contemporaries, and even the basic facts
are warting
d. all ofthese
B, “But might it not be a bit dangerous to
courterfeit death?™ What can we infer from
this line ahout Wadliere’ s death?
a. thathe dieda natral death
b, that hiz death was a spectacular one
. that he hada premonition of his death
d. that he was stricken during a petfonmance
and died thereafter.
f3. “The umal dowr toral lessons were drawn”
Which of the following would be the most
likely dour lesson drawn upon MMoliere's

= N

death?

a.  actors were imoral and deserved to die
unnatural deaths

b. it served the actor right because he joked
ghout death

c. one should stay away fom the perfortring
arts

d. none of these
£ We can say that Ms Scott’s biogmphical
trethod is:
a.  deeply researched and accurate
b, itnaginative and not accurate.
c. based on the most probable outcome as
itnagined by her
d. a flight of fancy that does not deserve
critical acclaitn
f5. Which attitudes is the author refernng to when
he compares two hiographies of Woliere?
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a. sexual and moral attitudes
b, attitudes towards playwrights and actors
c. Catholicattitudes
d. all of these

B suggest a suitable title for the passage:

a. Mysterious DMoliere

b, Fecreating Maliere

o A Spectacular Death

d. Mdliereand Madeleine

PASSAGE -3

That the doctiines connected with the narme of Darwin
are altering our principles has become a sort of
comnonplace thing to say. And moral principles ate
said to share in this general transformation. MNow, to
pass by other subjects [ do not see why Darwinism
tieed change our ultimate motal ideas I wall not
modify our conception of the end, either for the
community or the indiwidual, vnless we hawve bheen
holding wiews which long before Darwin were out of
date. Az to the princples of ethics [ perceive, in short,
tio sgn of revolution Darwiniam has indeed helped
trany to truer conception of the end, but [ cannot adrmt
that it has either onginated or modified that
conception.

And wet in ethics Darwiniam after all many
pethaps he revoltionary. It may lead not to another
wiew about the end, but to a different way of regarding
the relative inmportance of the means. For in the
ordinary moral creed those means seem estimated on
no rational principle. Our creed appears rather to bean
irational mixture of jamring elements. We have the
moral code of Christianity, accepted in part; rejected
practically by all save a few fanatice. But we do not
realize who in its very principle the Chrstian ideals iz
falze And when we rgject this code for another and in
part a sounder momlity, we are in the same condition
of blindness and of practical confusion. It iz here that
Darwinian, with all the tendencies we may group
wder that name, seems destined to intervene, It will
trake itself felt, T believe, more and more effectual. It
tray force on us dn some points a correction of our
moral wiews, and a return to a non-Christian and
pethaps a Hellenic ideal. T propose to illustrate here
these general statements by some remarks oo
Punishment.

Darwinisn, [ hawe said, has not even modified
our ideas of the Chief Good. We may take that as the
welfare of the community realised in its members,
There iz, of course, a question as to the mearing to be
gaven to welfare, We may identify that with et
pleasure, or may rmther view both as inseparable
aspects of perfection and individuality, And the exterd
and nature of the comrnunity would once more be a
subject for some discussion. But weare forced to enter
ot these controversies here We may leave welfare
undefined, and for present putpose need not
distinguish the cotrpnunity fom the state. The wel fite
of this whole exists, of course, nowhere outside the

s

Bad I3
individuals, and the indiwiduals again have fdghts and
duties only as members in the whole This iz the
rewived Hellendstm — or we Ay call it the organic
wiew of thing — urged by Gerrran idealism eafdy in
the present centuty.

7. According to the avthor, the doctrines of

Datwin:
a  have changed our physical and moml
prifciples.

b, have to be re-svaluated to correct the
faults endetric it thetn

c. donot change our moral ideas

d. are actually new versions of od tmoml
tules

B What is most probably the author” s opinion of
the existing morml principles of the people?

a. He thinks they have to be revarmped in the
light of Darwinism

b, He thinks that they are okay as they are
and do not need any major change.

c. He thinkes that it may be a good idea to
have a modown of the imemorml
Darwinism in us.

d. Cannot be deterrmined from the passage.

iR According to the author, the moral code of

Chnstianity:

a. iz not followed by most people.

b, iz in danger due 1o opposiion to
Drarwinism.

c. iz followed by a wast majonty of people.

d. iztotally ignored by all true Christians.

70. It isimplied in the passage that:

a. a Hellemc ideal iz not a proper substitite
ofthe Christian ideal.

b, what manlind needs iz a Hellenic ideal
rather than a Christian one.

c. Darwinism 15 tmore Chrstan  than
Hellenic.

d. fanatice do  not
Darwinistn really is

7l What, according to the passage, 15 the Chief

understand  what

Good?
a. Being good and kind to all fellow hurran
beings.

b, Thegreatest good of the greate st number.

c. The welfare of the cormmunity realised in
its memhbers.

d. Cannot be deterrrined frorm the passage.

PARSAGE -4
IManagement education gained new academnic stature
wathin UR Universities and greater respect from
outside during the 1960°s and 197075 Sotne observers
attritited  the competitive  supenonty  of US
cotpotations to the gquality of busness education. In
1978, a management professor, Herbert A Simon of
Camege WMellon University, won the Mobel Prize in
econorics for his work in decision theory. And the
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popularity of business educaion confinued to grow,
gnce 1960, the number of master’s degrees awarded
antnally has grown from under 5000 to osrer 50,000 in
the mid 1980°s and the WBA has become known as
‘the passport to the good Life’.

By the 1980z, howewver, US business schools
faced cnitics who charged that leaming had little
televanice to teal business problemns Sotne werd so far
as to blatne business schools for the decline in US
corrpetitiveness. Armddst the criticismn, for distinet
argurnents may be discernied. The first 15 that business
sthools rust be ether untecessaty of deletetious
because Japan does so well without them Underlying
thiz argument iz the idea that management ability
catmot be taught, one is either bom with it o much
acquite it over yeats of practical expefience. A second
argument is that business schodls are overly academic
and theoretical. They teach quantitative models that
tave little application to real wordd problems Third,
they give inadequate attention to shop-floor izsues, to
production processes and to management resources.
Finally, it iz argued that they encourage undesimtble
attitudes in students, such az placing value on the short
term and bottom ling” targets, wiile neglecting longer
temm  developmental criteria In summary, some
business executives complain that WB As areincapable
of handling day to day operatiomal decisions, unable to
corrruricate and to motivate people, and wrwilling to
accept  responsibility  for  following through o
implementation  plans.  We  shall analyse these
ciiticisms after hawving reviewed experiences in other
coutries.

In contrast to the expansion and development
of business education in the United States and more
recently in Europe, Japanese business schools graduate
no rnore than two hundred WB As sach year. The Keio
Business School (KBS was the only two year masters
prograrnme. The absence of business school in Japan
would appear in contradiction wath the high prority
placed upon leaming by ite Confucan  culture,
Confucian colleges taught admind strative skills as sarly
as 1630 and Japan wholeheartedly accepted Western
learmming followang the Iveii restoration of 1868 when
tnndreds of students were despatched to undversities in
U5, Germmany, England and France to learn the secrets
of western technology and mmodemisation. WMoreover,
the Japanese educational systern is highly deseloped
and intensely corpetitive and can be credited for
raizing the literary and mathematical ahilities of the
Japatiese to the highest level in the world.

Until recently, Japatese corporations have not
been interested in using either local or foreign business
sthools for the developrnent of their future executives
Their in-commpaty, tmining progratome have sought
the socialisation of newcormers, the younger the better
The trmining iz highly specific and those who receive it
tave neither the capacity nor the incenttire to quit. The
provailing belief, says Imai, management should be
born out of expenence and many years of effort and

Hiaf 33
not learnt from educational institutions’ A 1960
survey of Japanese senior execulives confinmed that a
trajority (24%) beliewed that raragerial capabilities
cat be attained only onthejob and not in undversities.

Howesrer, this view seemms to be changing the
satne survey revealed that even as eatly as 19640, 37%
of serior executives fElt that the universities should
teach integrated professional management. n the
19505, a combination of increased cotnpetitive
pressures and greater rolti-nationalisation of Japanese
tsiness are making it difficult for rrany cotnpanies to
tely zolely upon internally trained rranagers. This has
led to a rapid growth of local business programmes
and a greater use of Ametrican MBA prograrmmes In
1952-83, the Japanese comprised the largest singe
group of foreign students at Wharton, where they nat
only learnt the latest techwiques of financial analysis,
it also deweloped wodd-wade contracts through their
classmates and became Amencanised, something
highly usefill in fiture negotiations. The Japanese, then
do not, do without tusiness school as is sometimes
cortended. But the process of selecting and orienting
new graduates even NWBA:z into corporations is
radically different than in the U5, Rather than being
placed in highly paying staff positions, new Japanesze
recriits are assigned responsihility for operational and
even mmeral tasks Success is based upon Japan’s
gyatermn of highly competitive recruitment and intensive
w-commparny management development, which in tum
are grounded in its tradition of undversal and rigorous
academic education, lifelong employment and strong
group identificati on.

The harmony among these traditional elements
tas made Japanese industry ghly productive and the
aven coporate leadership a long term view. [t is true
that this has been achieved without ruch attention to
wiversity business education, but  extrmordinary
attention has been devoted to the dewelopment of
tranagerial skills both within the cormpany and through
patticpation  in programmes  sponsored by the
Productivity Certreand other sirnilar organdsations.

7. The 19607z and 197075 can best be desciibed

asaperiod,

a When  quality  business  education
contributed to the superiority of US
corporations.

b, When the number of MBAs rose from
under 5,000 to ower 50,000.

c. When managernent education gained new
acaderric stature and greater respect.

d When the NBA  became  tnore
disreputable.

73 According to the passage

a. learning, which was useful in the 196075
and 1970°s became irelevant in the
1950°s.

b, management education faced crticiam in
the 19807z,
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4.

75

7.

7a.

79

business schools are insensitive to the
needs of industry.

by the 198075 business schoals contribnted
to the declinein U5 competitiveness.

The growth in popularity of business schools
arnatg students was most probably due to

a.

C.

d.

Hetbert A Simon, a tanagement
professor winning the Mobel Prhze in
£CORLOLTH C2,

the gait in acadetnic stature.

the large rumber of MBA  degrees
awatded,

a perception that it was a “passpart to the
good life

A criticism that management education did not
facewas that

d.

h.
€.
d.

it imparted poor quantitative slalls to
LBAs

it wasunnecessary and deleterious,

it was irrevocably irrel evant.

it inculcated undesrable attitudes in
students.

U5 tusiness schools faced criticism in the
1980 5 hecanse

a.
h.

C.

d.

ofthe decline in Japanese competitiveness
marty critics fElt that the learning had little
relevance to business problems

people realised that management ability
carmot be taught

WBAs  were umwlling  to accept
responability for implementation o the
shop floor

The abszence of business schools in Japan

a.

C.

d.

15 due to the prevalent belief that
management akility can only be acquired
over years of practical expenence

was due to the high prority placed on
learning as opposed to doing in Confacian
culture

15 hard to explain for the proponents of
business education

contrituted a great deal to thelr success in
interrational trade and business

The Japanese were indtially able to do without
business schools as a result of!

a.

h.

C.

d.

their highly developed and intensively
cotrpetitive education system

despatching hundreds of students to leam
the secrets of Western technology and
o derti sati on

theit highly specific in-commpany training
progratrnes

prevaling  beliefs regarding  education
institutions

The Japatese todified their wiews on
tnara germett education because of

a.
h.

greater exposureto US MBA progratmmes
the need to develop wodd-wide contacts
and became Ameticanised

Fled TE
c. the outstanding success of business
schools in the U5 during the 19607z and
1970%s.
d. a combination of increased cormpetitive
pressures and greater b -natioralisation
of Japanese business

PASSAGE -5

For researchers interested in the working of the
subatorric and astrophysical realms, soup is on the
toery. This 15 no ordinary soup, however, but a
seething rrass of elementary patticles called quarks
and gluons The whole uriverse is thought to hawe
consisted of just such a soup of few rmllionths of
second after the Big Bang that began ewverything And
today the soup is being sought by two groups of
phrsicists, one oflot of whichis attempting to recreate
it on earth using particle colliders, while the other lat
searches for it In the slgy, buried in the cores of dead
stats.

Both groups have reported progress, though
neither haz wet produced conclusive results But
definite identification of “quark matter”™ would hawve
pofound implications. For particle physicists, the
search for such a soup prowides a way of testing one of
their most fundamental theones: that of quantum
clhromodranics (QCDY. Among  astrophysicists,
meanwhile, some theorists hawve suggested that in
certain circumstances quarks matter could fonm a stable
sort of super-dense material which if its exstence
could be proven would literally be the strangest stuffin
the universe.

The recipe for maling your own quarks soup
from scratch goes something like this First, tale some
atorns of lead. Unree] thern and discard the electrons,
leawing just the muclei. Put the nuclel into a particle
accelerator, spin up to almost the speed of light and
heat by slamming into a target made of more lead
atoms, so that they reach a tetmperature 100,000 times
hotter than the certre of the sun. At this temperature,
sotnething rather unusual is thought to happen.

Atom tuclel are bundles of protons and
neutrons which, along with electrons, are the basis of
norrnal, modern matter. But protons and neutrons are
themselves made up of more fundarmental particles
called quatlzs, bound together by “glue”™ particles called
(for obvious reasons) gluons. Quarks come in several
vateties; a proton, for instance, conssts of two “up”™
quarks and a “down” quark, while a nevtron consists
of two downs and an up. The theory of QCD tmakes
predictions about the way quarks and gluons should
hehawe.

Mommally, the laws of subatoric physics
dictate that indiwidual gquatks are never seen in the
wald, they always travel around in twos or threes. At
mufficiently high ternperatoares, however — such as
those reached ina high-energy particle collider protonis
and neutrons are thought to disintegrate into a soup, o
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plastna, of indiwidoal quatks and gluons, before
cooling and recotrbining into ordinary matter

That 15 what QCD predicts. So, since 1994 an
irternatioral teatn of researchers at CERM, the
Furopean lahoratory for patticle physics in Genewa,
tas bheen strashing lead moclel together and then
cotrhing through the hail of subatorric patticles that
tesults fom these collisions to look for evidence of
quatk-gduon plastra.

Thiz iz hard, because physcists can directly
detect only patticles that escape fom the fireball and
teach their instnunents — and these patticles are likely
to have undergone several tratsmutations in their short
lives. But by worldng baclowards it iz possitle to
dizcern the processes that led to the formation of the
ohserved patticles. For exarmmle, interactions between
free quarks and gluons, as opposed to ordinary matter,
should cause more of some types of exotic particle to
be produced, and fewer of other lkinds Carefil
analydas of the mtions of particles chormed out in
thousands of collisions should thus determine whether
a quarkguon plasma was made or not.

CEEMN researchers hawe amnounced that
analyas of the resultz of seven separate types of
collision collectively  provided evidence of the
creation, for the first time, of just such a soup. For a
fraction ofa second they had, in other words, recreated
the conditions that prevailed just after the Big Bang,
Adrttedly, this declaration of wictory came with
several provizos. Ulrich Heinz, a theoretical physiciat
at CEREM, =ays that more expenments at higher
energies will be needed to verify the result. But,
having cranked up their accelemtors to aclieve the
most energetic collisions possible the CERM team can
go no frther 5o the announcement also signalled a
passing of the torch to the new Felativistic Heawy Ion
Collider at the Brookhaven Mational Laberatory on
Long Island, Mew York, which swill stat an
expetimental prograrmene at higher energies later,

all, According to the passage, what iz said to have
began the undverse?
a. Quarks and gluons
b, the theory of QCD
c. TheBigBang
d. Mone ofthese
al. Who atre the particle phiysicists?
a. a group of physicists who ate canrying ot
their research on how the earth began.
b, a group of physicist that is using particle
colliders
c. a group following the fundammental theory
of QCD
d. all of the ahowe,
8. What happens when protons and neutrons ate
subjected extremel y high ternpetatures?
a. it leads to the formation of atormic maclens
b, they disintegrate into a plasma of
individual quarlcs and gluons,

83

85,

B,

BE.

0.
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. they recombine into ordinary matter.

d. Both (b and (o)

What 15 the ideal method to determine whether

gquatkgluon plasma was tnade or not?

a. carefinl analyse is of the ratios of patticles
churnied out

b, smashing load nudel together and then
cotrhing through the hail of subatordc
particles.

c.  wotling baclowards

d. none of the abowve

Why iz it said that “the atmouncement also

dgnalled a passing of the torch to the new

Felatiwistic Heavy Ion Collider at the

Brookhaven Mational Laboratory™

a. dueto paucity of funds

b. the CERN team has reached the end of its
capahilities

c. in order to verify the results at high energy
lewels

d. the CERN equipment has reached the end
ofits capabilities

Which of the following statements abowt

quarkes, igfare tae?

a.  Cuarks come in various varieties

b, Cuarks always travel in groups

c. A neutron consists of three quarles

d. all ofthe abave

From theabove passage we can conclude that:

a. Itis still not certain whiter ‘quark matter”
exigts or not

b, Quarks were solely responable for the
creation of universe

c. though it iz cerain that quar matter
exists, it's behaviour is still only dimly
understood.

d. Mone of these

The word “seething’ as used in the passage,

can mean the following

saburated in Houid

extremely cold

croweded

Boiling and bubbling

Jand4

1,2, and 4

2, 53and 4

2and4

Arnideatitle for the shove passage would be:

a.  The Quark Matter

b, TheBig Bangand After

c. otange Soup

d. none of these

The tonie of the passageis:

Light and inforrmative

arnusing but trite

Perceptive and well researched

Ironic

0 TR L R
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PASSAGED

Fhatns and delusions are esteemed for soundest truths,
while reality 15 fbulous, if men would steadily
ohserve realties orly, and not allow themselves to be
deluded, life, to compare it with such things as we
now, would be lke a fairy tale and the Arabian
Mights entertainments. If we respect only wiat is
inevitable and has rght to be, music and poetry would
resound along the streets. When we are untnried and
wise, we perceive that only great and worthy things
tave any perrranent and absolute exstence that petty
fears and petty pleasures are it the chadow of the
reality. This is always exhilarating and sublime By
closing the eyes and slumbening, and consenting to be
deceived by shows, men establish and confirm their
daily life of routine and habit everywhere, widch still
15 built on purely illusary fondations. Children, who
play life, discem its true lawand relations more cleatly
than men, who fail to live it worthily bt who thinlk
ttat they are wiser by experience, that is, by failure

[ tawve read in a Hindu boolt that there was a
lang’s son who, being expelled in infncy from his
tative cty, was brought up by a forester, and, growing
up to matunty it that state, imagined himself to belong
to the barbarous race with which he lived. One of his
father’s ministers having discovered him, revealed to
him what he was, and the misconception of his
character was removed and he knew himself to. be a
prince, “Ho soul,” continues the Hindu plilosopher,
“from the circumstances in which it is placed, mistakes
its owm character, until the truth is revealed to it by
some holy teacher and then it lnows itzelf to be
Bratmma ™

If a man should give us an account of the
realities he heheld, we should not recognise the place
inhis description. Look at a meeting-house, or a court-
house, or a jail, ora shop, ora dwelling hovse, and say
what that thing really is before a true gaze, and they
would all go to pieces in your account of them WMen
esteetn truth remote, in the outslkdrts of the systern,
behind the fatthest star, before Adatn and after the last
tran. In eternity there is indesd something true and
sublitne bt all these times and places and occasions
are now and here. God Himself culminates in the
present moment, and will never be more divine in the
lapse of all ages. And we are enabled to apprehend at
all wiat iz sublime and noble only by the perpetual
instilling and drenching of the reality that swrounds
us. The uraverse constantly and obediently answers to
our conceptions, whether we travel fast or dow, the
track is laid for ws Let us spend our lives in
conceiving, then The post or the artist newer yet tad
so fair and noble a design but some of his postenty at
least could acconmplish it.

an. The wmiter’s attitude toward the artsis one of
a. Indifference
b, Suspicion
c.  Admitation

Ehed 33
d. Repulsion
9l The author believes that children are often
tmore acute than adults in their appreciation of
life” srelations hecause
a.  Children know tnore than adults,
b, Children can use their experience hetter.
c. Children’ s eyes are unclouded by failure.
d. Emperienice is the best teacher.
9. The passage itrplies that hurmat beings:
a. Camnot distinguish the true from the
untiue.
b, Areirmnoral ifthey are lazy.
c. Should bebold and fearless,
d. Believe in fairy tales.
03. The word “fabulous’ in the first line, in the
cottext of the passage, means

a.  Wonderfill
b, Delicious
c. Birdlike
d. usion
o4, The author iz pamanly concemed with urging
the reader to
a. DNlediate on the meaminglessmess of the
present.

b, Appraize the present for its true walue,
c. Look to the futwe for enlightenment.
d. Spend more time in the leisure activities.

PASSAGE-7

BOB ODY disputes that wage inequality is on the rise
in most rich countries, and especially in America.
Frxactly how much inequality has gone up remains a
matter of dispute, it the trend 15 clear. And it iz not
just a matter of incomes soanng at the wery top andfor
plunging (relatively speaking) at the wery bottom the
distribution of incomes is being stretched throughomit
ite span. Why?

A plavsible one-word answer, von might
thinlz, iz “computers™. Infortration technology replaces
the unskilled, less demmand means lower wages: At the
same titne computers complement the skills of more
sophisticated types — the “knowledge workers™ who
represent, according to pundits such as Fobert Feich,
the fiture of worle Thiz complementarily mises
individuals” productivity and thereby increases their
parming power. The prosperous get more so, the
unskalled get dumped.

superficially appealing, the knowledge-worker
patt of thiz story has always seetned, on reflection,
talf-taked Itz advocates concentrate on the wage-
dizpersing role of PCs But the trend of nsing
inequality dates back much further than the 1950z,
when the PC ocaught on. Also, research (as well as
casual ohservation) shows that office PCs are chiefly
used for word processng  and  cranlang out
spreadsheets. It iz hard to believe that top managers’
wages are tising relative to the mean because bosses
are doing  their own typing And  the typical
spreadsheet cruncher iz niot a cotporate top-dog bt a
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triddlelevel cerks or acoountant whose wage is failing
to loeep pace with his boss's.

Statistics do show that wages are correlated
with use of PCs But the question is whether PCs have
tai zed workers” wages or were merely put on the desks
of wiorkeers who were well-paid to begin with. Among
evidence for the latter siew is one study that showed
pay to be as strongly correlated with the use of pencils
as with the use of PCs. Az wet, nobody has argued that
peticils have shifted the income distribution.

A new study by Timothy Bresnahan of
otanford  Undversity reflects on these and  other
findings and offers a quite different wew Yes, the
paper argues, IT has had, and will continue to hawve,
profound effects on jobs and wages—but nat through
the largely bhogus knowl edge -worler channel.

Father than emphasising PCs as a way to
improve the productivity of individoal workers, IWr
Bresnahan sees computing as an agent of revalution in
whiole organisations. B egirming not with PCz tut mmuch
garlier, computers have indeed been used as substitutes
for lowr-gkdll clencal workeers. The pattem began in the
1950z, when hugely expensive mainframe computers
were first used to sawve comrespondingy huge sums in
information-intensive  fanctions in the financial-
services industry, then in accounting, payroll and
irwrentory- control taskes in other hig organisations.

It iz unsurprising that this kind of innovation,
wiich spread in scale and scope asz the cost of
corputing came dowr, should have lowered the wages
of the undlalled But how did it mise the wages of
people higher up the income mnge? Wir Bresnahan’s
answer 15 that it raised the demand for two kinds of
wirker—neither of them lmowledge workers in the
Feichian sense.

First, as back-office jobs (susceptible to
autorration) tave declined in imporance, font-office
jobs (which require certain bundles of dkills, especially
social skills) hawe increased In other words, there is
less mindless paper-stufiling and more dealing with
customers, suppliers and other hurrans. Second,- such
far-reaching organisational innovation puts exceptional
dermands  on maragers—aot  as  power-users  of
Windows, heawen forhid, bt as leaders of tmen. The
phase of mere automation iz difficult to manage in its
own right; beyond that lies the even more itmportant
phase of identifying and pursuing the new business
opporturities that the technology has brought within
teach Front-office workers with “people salls™ and
good managers (in the old-fashioned sense of that
terry are the roain witmers fom the [T revolution

Thiz story might seetn more persuasive as an
account of the early stages of the [T revolution than of
what 1z happening now Mt B resnaban argues, on the
contraty, that this pattern of innowation is going to
petsist. PCs, as such, he regards as an unitrportant
technalogy so far as the labour marlzet is concerned.
Howewer, networks of PCs are another thing: the
advance of networked-computer systems in business

P45 0f §F
tas already led, he argues, to a new surge of
orgari sati onal innoation. Inter-orgatisati onal
networldang, inwolving the automation of corpany
treaucracies devoted to buying and selling, could in
future be as fuitfal as the eatlier phases oflarge-scale
tisiness automation: as he points out, “the amount of
trid-slill white-collar work in buying and selling is
sturting”

The only drawback of this emphasiz on the
orgarisational as  opposed  to  indiwidual sworkoer
cotrplemnentanly of 1T iz that it makes it harder to say
exzactly which ddlls the economy is going to need.
Indeed, if Wit Bresrabanis right, economists” standard
ways of categorising worlers according to ddll are
wrong: thereis tore (or less) to 1t than education and
training, natrowly defined. Thanles to computers, oddy
encugh, the abiity to get on well with other people is
going to be even more waluahle in fiture than it has
been up to now Posasble slogan for far-sighted
goverruments:  courtesy, o stmtegic  economic
TESOUICE.

95, Why iz the lmowledge-worker theory
conaidered to be lalf-baked in explaining
nang wage inequalities?

a. Itz adwocates concentrate on the wage

disperaing role of PCs

b, Office PCz are chiefly used for word
processing and spreadsheets.

c. inequality dates back mmuch fiuther than
the 1980s.

d. itisa combination of marny factors.
94, Wy does the author compare computers with

pencils?

a. toshowthat pencils are strongly correlated
with pay

b, to show that pencils have not shifted
incomme distribigion

c. pencls and comrputers are both tools veed
by the office worler
d. to debunk the computer theory of wage
dizparities
g7, Wiy does M. Bresrahan see cormputing as an
agent of revalution in orgatd sations?
a it wall lead to substibating low skilled
clerical wortlzers
b, commputers hawe been used to sawe huge
surms in informati on-intensive functions
c. computers hawe had major changes in
etnployinent tratters
d. none of the ahovwe
BE. Because of the [T rewolution, we can expect
the wages of the following to fae
software esperts
peoplewho can use computers effectively
frAtAagErs
1 &1
&3
Oy 1

0D Lk
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d. Only3
oa. Which of the following effects  will
networldng bring in organi sations?
a. it will brAng in a new =urge of
orgatd sational innovation
b it wiAll lead to autoration of trdd-skill
white collar work
c. it will lead to less bureauctacy
d. none ofthe ghove
100, Which skills ate goitg to be greatly in derrand
inthe fubae?
a. the ability to get on well with other people
b, the ahility to work wath computers
c. theability to manage and to lead
d. all of the ahave

For .101 to 105 use the following data:

A manufcturer can choose from any of the three types
of tests available for checking the oquality of his
product. The graph gives the relative costs for each of

these tests for a gven percentage of defective pieces.
Hs i gt

0a . v

L2 /{’

tzx - —— T 1
oAt _,"‘{, . —i— Ipd 2

o _’/' _-..-"'T ey Tl 5

L s L
b0 _E:zﬁ.:!f’“;_
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d DOy 01 G115 Dy D25 GF
A rafacdnae

101,

102, Ifpiz equal to 0.2, then which test will be
feasible?
a. eitherl o2
b, 2 orly
c. 3 only
d. either2or 3
103, Whenwill Test-3 be feasible?
a. P=»02
b, 01=<p=01
c. 005<p=01
d. P =005
104, Whenis Test-1 feasihle?
a. P<005
b, 00=<p=01
c. Dl=p=02
d 005to02
105, Ifp <02, then the best altemative wall be.
Test-2
Test-3
Test-1
Mot Test-3

&0 o

Direc
other:

104.

107.

108.

109,

11n.

111.

PR BY

tons 106 to 115 are indeperndent of each

From a circular sheet of paper with a radius of
20 o, four circles of radive Scin each are cut
out. What 15 the ratio of the paper left to the
area of the crcles?

a 1.3

b 41

c. 31

d 43

Two liguids & and B are in the ratio 5 1in
cottainer 1 and in container 2, they are in the
ratio 1: 3. In what ratio should the contents of
the two containers be mized so as to obtain a
mizture of & and B in the ratio 1: 17

a 23

b 43

c. 33

d. 34

Cut of two-thirds of the total number of
basket-ball fratches, a teamm has won 17
matches and lost 3 of them What iz the
mazmn rmber of matches that the team
cartlose and still win three-fourths of the total
manber of matches, if it is true that no match
car end in a tie?

4

fi

5

d 3

A& closed wooden box of thickness 0.5 om and
length 21 cm, width 11 ci, and height 6 cm, 12
parted on the inside. The cost of painting 15 K=
70 What iz the rate of painting in mpees per
s, crn?

a 0.7

b 05

c. 01

d. 0.2

If a mamnber 7749584968 is to be divisble by
8 and 9, the values of & and B, respectively,
will be:

a 7.8

b &0

co 5.8

d. Mone of these

Once | had been to the post-office to buy
starnps of five rupees, two rupees and one
tupee. [ paid the clerk Fs 20, and sinee he did
titt hawe change, he gave me three more
statnps of one rupee. If the mynber of stamps
of each type that [ had ondered intially was
tnore that one, what was the total mumnber of
statnpsthat T hought?

a 10

h 8

c. 12

d B

=
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112, Giventhe quadratic equation=® - (4 - 3 x - (A
- &, for what walue of & will the sum of the
squates if the roots be zero?

a -2
b 3
c. 6
d. Mone ofthese

113, T zold two watches for Ba 300 each, one ata
loss of 10% and the other at a profit of 10%.
What is the percent loss (=) ot the percent
profit (+) that resulted form the transaction?

a. [+110
b (=1
c. [+l
d 0

114, The price of a Maniti car nises by 30% while

the sales of the car came dowm by 20%:. What
1sthe percent changeinthe total revenue?
a -4
b -1
o +d
d 0

115, In tnangle ABC, angle B iz a right angle If
AC1s 6 o, and Dristhemid-point of side AC,
thelength of BD is
A

B
a 4o
h. o
C. 3cm
d. 3.5cm

Q. 116 and 117V: are based on the Wllowing
infonmmation A, 3, Wl and Dare functions of x and v,
and they are defined as followes:

A wi+x+y

AH VI=K-F

Mz )=y

Dz, vy ==y, where y=0

114, What is the value of NUTWVCATE, v, 507,320,
Ay, Enforz=2,y=13
a. a3l
h. 140
c. 25
d 70

117, What iz the walue of ST AR, by, 2,
Diara, by, 2, MIDGE, By, 2), D, b))
a. ah?
b, ab
c. a—h?
d ah

115, The figure shows a rectangle ABCD with a
sernd-circle and drode inscibed inside it as

Bead T3
showm. What is the ratio of the atea of the

circle to that the setni-circle?
A B

a (¥2-17
b, 2(V2-17
£ (N2- 12
d. Mone ofthese
119, Which of the following value of = do not
satisfy the inequality 5 - 3x+ 2=0at all?
a 1=l
b 1zl
c. 0=0xz=1
d -1
120, A mman travels three-fifths of distance AB ata
speed of 3a, and the remnaining at a speed of
Zh Ifhe goes fom B o A and back at a speed
of Scin the sarne titve, then:
a.  lat+li=1/c
b ath=c
c.lia+ Ih=2ic
d. MNone ofthese

Q. 121 to 122 are hased on the following data:

A zmlestnan enters the quantity sold and the price into
the computer. Both the numbers are two-digit
tuenbers. Once, by rmistake, both the mumbers were
entered with their digits interchanged. The total sales
value tetrained the same, ie. Fs 1145, it the
inwentory reduced by 54

121, Whatis the actual price per piece?

a 82

h 28

c. 56

d 14
122, What iz the actual quantity sold?
a 1a
b 14
co 82
d. 41

Q. 123 and 124: In a locality, there are five snmll
towms, &, B, C, D and E. The distances of these towns
from each other are az followes:

APB=2km AC=2um AD>30m AF =3km B C=2km
BD=4km BE=3km CD=2km CE=3km DE>3km

123, Ifa ration shop is to be zet up within 2 lom of
each city, how many ration shops will be
required?

a 2

b 3
c. 4
d. 5
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124, If'a ration shop is to be set up within 3 lan of
gach city, how mmany ratio shops will be
required?

mo oo
Fu L b —

For (Q.125-128, choose the hest alternative:

125 The cost of a diamond waties directly as the
squatre of its weight Once, thiz diatond broke
into four pieces with weights in theratio 1: 2
3 4. When the pieces were sald, the merchant
got Fs. 70.000 less. Find the onginal price of
the diatmond
a. Es l4lakh
h. Rs 20lakh
c. Rz L0lakh
d FRs 21lakh

126, A cube of side 12 cmis painted red on all the
faces and then cut into smaller cubes, each of
side 3 cim. What iz the total mumber of smaller
cubes having none of their faces paintedy
a. la
b &
o 12
d 24

127. The pointz of intersection of three lines, 2 +
3Y-5=0,-7TY +2=0,and 92-5Y-4 =
a. fomm atriangle
b, are onlines perpendicular to each other
c. are onlinesparallel to each other.
d. are coincident.

128, Ifnisany odd munber greater than 1, then the
largest mumber that divides n(rf - 131z
a. 48
b 24
c. 6
d. MNone ofthese

Q. 129 10 133 are hased on the following
information:

H, ¥ and 7 wish to go from place A to place B, which
are separated by a distance of 70 k. All the three
persons start off together form A, with X and ¥ going
by Lura at a speed of 20 larph. 2 drops WV osomewhere
along the way and retums to pick up 2 who has
already started walling towards B at a speed of 5
leph. V. after being dropped by 2, starts walling
towatrds B oat a speed of 5 lovph. In this matner, all
ttree of thetn reach B at the satme time,

129, Howtnuch distance is covered by £ on foot?
a. 25lan
b, 10 lan
c. 20ln
d. 15ln
130, What iz the total distance trawvelled by 27

a. 130%km
b 140k
c. 110km
d. 90%kam
131, Howlong does it take them to go from A to B?
a. 6.0 hours
b, 4.5 houts
c. 7.0hours
d. 14.0hours
132, After how much time is ¥ dtopped on the way
by 20
a 2.0 hours
b, 3.0 hours
c. Z5hours
d. 1.5hours
133, For how long does X trawvel alone over the
entire journey’
a 2.5 hows
b, 1.0 hour
c. Z.0hours
d. 1.5hours.

Directions () 134-138: The questions are independent
of each other.
134, . The figures showes a circle of diameter AB and
radiug 8.5 om. If chord CA iz 5 om long, find
the area of triange ARC.

Lo

60 =g.cm.

30 =g.0m

40 sg.cm.

. 52 .o

135, In a locality, two-thirds of the people have
cable-TV, one-fifth have VCE, and one-tenth
hawe both, what 1s the fraction of people
hawing either cable TV or VCRY
a. 19430
b, 35
c. 17730
d. 23730

136, IFABCD isa square and B CE is an equilateral
tangle, what is the measure of the ange

oo

DEC?

E n
_ E
|

n i

a. 15°

h. 30°

c. 0°

d. 45
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137, Thought 5 pens, 7 pencils and 4 erasers. Rajan
hought 6 pens, & erasers and 14 pencils for an
arnount which was half more than what 1 had
paid. What percert of the total amount paid by
tre was paid for the pens?

a. 37.5%

b A25%

o 50%

d. Mone ofthese

135, If = is a positive integer such that. 2z + 12145
petfectly divisibly by 2z, then the namber of
possiblewalues of xis:

a 2

b 5

c. B

d 12

For ().132 and 140, use the following information:

& watch dealer incurs an expense of Es 150 for

producing every watch. He also incurs an additional

expenditure of Fs. 30,000, which 15 independent of the

mumbher of watches produced. If he iz able to s6ll a

watch during the season, he zells it for Fs 250, Ifhe

frils to do =0, he has to sell each watch for Bs. 100,

139, Ifhe iz ahle to sell only 1200 out of the 1500
watches he has made in the seazon. then in the
seazon he has made a profit of
a. Rs 90,000
b, Rs 75,000
c. Rs 45000
d. FRs 60,000

140. If he produces 1300 wmtches, what i1z the
munher of watches that he must =gl dunng the
season in order to breals even, given that heis
ableto sell all the watches produced?

a. 500
b 700
c. &00
d. 1,000

Directions ) 141-145: The questions are independent
of each other.

141, A man travels form A to B at a speed of =
ltrph. He then rests at B oor x hours. He then
travels from B to Cat a speed of 2x lanph and
restsat C for dx hours. He mowes further to &
at a speed twice as that between B and C. He
thus teaches D in 16 howrs. If distances A-B,
B-C, C-D are all equal to 12 ko the time for
whichherested at B could be:

a. 3 hours
b, 6 hours
c. 2hours
d. 4 hours

1432, Ihstead of a metre scale, a cloth merchant uses
a 120 cm scale while buying, but uses an &80
o scale while selling the same cloth. If he

nad 33
offers a discount of 20 percent on cach
paymett, what 1z his overall percent profit?

a  20%
b 25%
c.o 40%
d 15%

143, A man ltas nine flends, four boys and five
gitls. In how trany ways can he inwite ther, if
there have to be exactly three gitls in the
itrritees?

a 320
b 150
c. &l

d. 200

144, Iti a watch, the minute tand crosses the hour
hand for the third time exactly after every 3
hrs 18 mm 15 seconds of watch time. What is
the time gained or lost by this watch in one
day?

a. 14 nm 10 zeconds lost
b, 13 mum 50 zeconds lost
c. 13 nun 20 second gained
d. 14 o 40 second gained.

145, Ina mile race Alshay can be given a start of
123 meters by Balmm If Balram can gven
Chetan a start of 4 metrez in a 100 metres
dash, then who out of Alslay and Chetan wall
wit1 a race of one and hal finile, and what will
be the final lead given by the winner to the
loser? (Onermileis 1600 metres).

a.  Alshay, 1712 miles
b. Chetan, 1/32 miles
c. Alshay, 1524 miles
d. Chetan, 1/16 miles

(). 146 to 150 are hased on the following graph:

Mﬁ-cufi Dfsvenus -Eupen-.diure[

249 4

4088 ol aodt ofZ o3 qobd oon®

146, Which year showed the greatest percentage
increase in profit as compared to the previous
yeaty
a. 1993
b 1994
c. 1990
d. 1993

147 The average reverme collected in the given
SEVEN ¥ Ears 13 approzimately;

a. Rz 164 lakh
h. Rz 168 lakh
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143,

149,

150,

c. Rs 171 lakh

d. Rs 1751akh

In which year was the growth in expenditure
greatest as comnpared to the previous year”

a. 1983

b, 1985

e 1991

d. 1992

The expendibre for the seven years together
forms what percent of the resrenues duting the
satne petiod?

a. 75%

b 67%

c. 6%

d 33%

If the profit in 1994 shows the same anmml
rate of growth as it had shown in 1995 over
the previous year, then what approzimately
will bethe profit in 19947

a. Fsz 7ilakh

h. Rz 86lalkh

c. Kz B3lakh

d. Rz 78lakh

Q. 151 to 155 are hased on the following table,
which gives data about certain coffee producers in

155,

For. Q.

P ad B7
c. 15,900
d. Insufficient data
Which compaty out of the four companies
tnentioned abowe has the masinonm undilised
capacity (in 000 tonnes)?
a. Lipton
b, MNestle
c. BrookeBond
d. MAC

156 to 160, use the following data:

XYZ Doftware Co., bhefore selling a, package to its
clients, followes the given schedule:

Cost {Rs. ‘000 per
Month Stage man-nwohth)
1-1 specification 40
3-4 Dresign 20
5-5 Coding 10
3-10 Testing 10
11-15 Iiaintenance 10

The number of people ermployed in each month s

Motk

12345678 0101112 13 1415

Ma. of
people

ernplosed

234345544133 111

India:
P oy | e | T
Coffee tones) Utilization] (000 (Rs./
(%9 | Sales)
(tomnes) Cr.)

B rooke Bond 297 76.50 255 | 3L15
Iestle 243 71.20 203 | 2875
Lipton 1.64 f4.50 Lia | 1545
LAC 1.54 5035 147 | 1745
T otal (incl 11.60 61.30 | 1067 [ 13280
others)
131, What is the masimum production capacity (in

‘000 tonnes) of Lipton for coffee?

a. 253

b, 285

c. 4.24

d. 2.07
132, The highest price of coffee perkgis for

a. HMestle

b, MAC

c. Lipton

d. Insufficient data
133, What percent of the total narket share (hy

dales Walue) is controlled by “Others™

a. a0%

b, 3%

o 67%

d. Insufficient data.
134, What appromimately iz the total production

capacity (in tonnes) for coffes in India?
a. 1&, 100
b, 20,300

158,

157.

158.

159,

Die to an overnan, the Design stage tools theee
tnonths, i.e motiths 3, 4 and 5. The munber of
people wotling on Design in the fifth month
was 5. Caleulate the percentage change in the
cost incurred in the fifth month (due to
itmprovermnett i Coding” technique, the stage
was cotrpleted in months 6-5 anly).

a  235%%

b 130%

co d75%

d. 240%

With reference to the above question, what is
the cost incurred in the new “Coding” stage?
(Under the new teclnique, 4 people work in
the sizth month and 5 in the eighth.

a Rs 140000

b, Rs 1,530,000

c. FRs 1,460,000

d. FRs 170,000

Under the new technique, which stage of
software Development is most expensive for
XY E Software comparny?

a. Testing

b, Specification

c. Coding

d. Desigm

Which five consecutive months hawve the
lowrest average cost per man-month under the
new technd que?

a 1-3

b, B-13

c. 11-15

d. Mone of the these
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160, What is the difference in the cost hetween the
old and the new techd ques?
a. FE.s 30,000
b, E.s 60,000
c. Fs 70,000
d. E= 40,000

Q. 161 -165 are hased on the following information:
The atnount of money imsrested (in tipees crare) in the
cote inflastucture areas of two districts, Chittoor and
Eharnam, Andhra Pradesh as follows:

Chittoor District Ehammam District

Cow drea | 1995 199g(Core drea 1935 1998
Electricity | 815.2| 1054.2|Electrivity Area |  20858| 23851
Chemical | 3zm5] 476.7|Chemical 7455 954
Thermal gd| 5655 Themmal 12527 10263
5 clax agz 1| s89.6|5clar 13635 17921
Huclear g17.9] =031|Huclear 15743 21821

Total | 298] 1| AR5 Total TE1E| E55el

161, By what percent was the total investment in
the two districts more in 1996 as cormpared to
that in 19957
a. 14%

b 21%%
co 4%
d 18%

162, Approginately how mamy times the total
inwestment in Chittoor was  the total
inwestment in Khammeam in the given two
yearsy
a 2.8
h. 2.0
o 24
d L7

163, The investment in Electricity and Thermal
Energy in 1995 in these two districts formed
what percent of the total investment made in
ttat year?

a. 41%
b 47%
c. 1%
d 55%

164, In Kharram district the investoent in which
area in 1996 showed the least percent increase
over the inwestrnent in that area in 19957
a. Electnicity
b, Cherrical
c. bolar
d. Muclear

165, If the total investrnent in Kharmimarmn shows the
satne rate of increase in 1997, as it had showh
from 1995 to 1996, what approprately would
he the total investtnent in Khatntrarn in 1997
(in Fs crore)?

a. 9,850
b, 10,000
c. 9,170

d. 5,540

Hiad T2

For (). 166 to 170, refer to the following grap h:
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166, Which tonth has the highest profit per
etrployes!
a.  September
b July

c.  Jatuary
d. DNlarch

167, Which manth records the bt ghest profit?
a. September
b Ty
c. Dflarch
d.o Llay
168, In which month is the percentage increases in
males the highest?
a. Dlarch
b September
c. Juy
d. Nlay
169, In which month is the total increazein the Cost
highest as compared to the Cost two, months
aga’
a. DMlarch
b, September
c. July
d. Nlay
170, Assuming that no employee left the job, how
many more people did the company tale onin
the given period?
a. 4,400
b 5,100
c. 5,800
d. 6400

Q. 171 to 175 are based on the following data:

The first table gives the percentage of students in the
class of WLB . A who sought eroplovment in the areas of
Finance, Matketing and Software. The second table
given the average starting salaries of the students per
totith, in these ateas.
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tvidha:in
Thaef 27
Wark b, ifany one of the two staterments 15 sufficient
Year | Finance | Marketing | Software | Other to angwer the question,
1903 12 36 19 243 Markc, if each satement alone iz sufficient fo
1903 17 43 23 12 answer the question
1994 23 43 21 13 Mark d, if both the statements together are sufficient
iggg %g %g ég %2 to answer the question, it neither statement
aloneisz mfficient.
Year Finance Marlketing Software _ . .
7
1003 5 450 5450 5,300 176. What iz the CFust Frice thhe article
1007 6,320 6 320 6,440 1. After selling the article, a losz of 25% o
1904 7,550 7,550 7,050 Cost Price incumred.
1995 8920 8,920 7760 2. The Zelling Prce is three-fourths of the
1996 9.E10 9,810 8,640 Cost Price.
171, The munber of students who got jobs in a. 1f both the satements together are

172,

173

174

175,

finance is less than the number of students
getting marketing jobs, in the five years, by

a. 818

h. A50

oo 735

d. 548

In 19%, smdents seeldng jobs in finance
garned Fs. more than those opting for
softwmre (in lalths)

a 43

338
28 4
38,8

What is the percent increase in the average
salary of Finance from 1992 to 19947

a. 6l
b 32
c. 96
d. &0

What 15 the avetage monthly salary offered to
amanagement graduateinthe year 19937

a. 6433
b G330
co 6333
d. Cannot be determmined.

The average annal rate at which the initial
salaty offered in Software, increases

a. 2l
b 33%
o 16.3%
d a5%

e oo o

Directions for (. 176 to 185:

Inn each

question, you are given certain data followed

by two staternents. For answering the questions:

Ilarlca,

if tboth the statements together are
inmafficient to answer the question.

177.

178.

179

insufficient to answer the question

b, if any one of the two statemerts is
sufficient to answer the question.

c. if each statemment alone is sufficent to
answet the question.

d. if both the statemnents together
sufficiert to answer the guestion,
neither statement alone is sufficient.

Ifa, b, careintegers,is(a-bh+ci={a+h - Y

1. b iz negative

2. cispositive

a. if hoth the statements together are
insufficient to answer the question

b, if any one of the two statemerts is
sufficient to answer the question.

c. if each statement alone is sufficent to
answet the question.

d. if hoth the satements together are
sufficient to answer the gquestion, bt
rieither statemment alone is sufficient.

What iz the Selling Price of the article?

. Theprofit on Salesis 0%

2. The profit on each wut iz 25% and the
CostPrice is Bs 250.

a. if hoth the statements together are
insufficient to answer the question

b, if any one of the two statemerts is
sufficient to answer the question.

c. if each statemment alote is sufficent to
answet the question.

d. if tboth the statemnents together are
sufficiert to answer the question, but
rieither statemment alone is sufficient.

& tractor travelled a distance of 5 . What is

the radins of the rear wheel?

1. The front wheel rotates “I7 times more
than the rear wheel over this distance.

2. The cdrounference of the rear wheel 15 “t7
titnes ttat of the front wheel.

are
it
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180,

181,

152.

if both the staterments together are
inaufficient to answer the question

if any me of the two statements is
sufficient to answer the question.

if each staternent alone iz sufficiert to
answet the question.

if both the satements together are

sufficient to answer the question, but
neither staternent alone is sufficient.

What 15 the ratio of the two ligquids A and B in
the rmzture finally, if these two liquids kept in
three wessels are mixed togethet? (The
cotfainers are of equal volume)

1.

Theratio of liguid A toligud B in the first
and second vessel iz, respectively, 30 5, 2
3

Theratioliguid & toliqud B inwvessel 31z
43

if both the statements together are
inmfficient to answer the question

if any one of the two statements is
sufficient to answer the question.

if each statemnent alone iz sufficiert to
answer the question.

if both the staterments together are

sufficient to answer the question, but
neither statetnent alone is sufficient.

If o are the roots of the equation
(ax+hato=07, then what is the walue of (o
+|33}?

1. otp ={hf

2. lop~oia)

a. if both the satements together are

insufficient to answer the question
if any one of the two statements is
sufficient to answet the question.

if each statement alone is sufficiernt to
answet the question.

if both the statements together are
sufficient to answer the question, but
nieither staternent alone is sufficient.

What is the number of type 2 widgets
produced, if the total fumber of widgets
produced 15 20,0007

1.

If the production of type - 1 widgets
increases by 10% and that of type-2

183.

154

185,

2

N
ion HEEG

decreases by 6%, the total production
rernains the same.

The ratio in wiich type - 1 and type - 2
widgets are produced iz 20 1

Howroldis Bachin in 19977

.

sachin is 11 wears younger than Anil
whose age will be prime mumberin 1998,
Anil’s age was a pritne murher in 1994,

if toth the statements together are
insufficient to answer the question

if any mme of the two statements is
sufficient to answer the question.

if each staternent alone is sufficient to
answer the question,

if both theo statements together are
sufficient to answer the cuestion, but
rieither statement alone is sufficient.

What 15 the total worth of 207z assets?

1.

Cormpound interest at 10% on his assets,
followed by a tax of 4% on the interest,
fetches him Fs. 15000 this vear,

The interest 1s compounded once every
four months.

if tboth the statements together are
insufficient to answer the question

if any mme of the two statements is
sufficient to answer the question.

if each staternent alone is sufficient to
answet the question.

if both the statements together are

sufficient to answer the cuestion, but
neither staterment alone i3 sufficient.

Howe trany different triangles can be fonmed?

1.
2
a.

There are 16 coplanar, straight lines inall.
Mo to lines are parallel.

if tboth the statements together are
insufficient to answer the question

if any me of the two statements is
sufficient to answer the question.

if each staternent alone is sufficient to
answet the question.

if both the satements together are
sufficient to answer the cuestion, but
rieither statement alone is sufficient.
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